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QUESTION 1

During development the AEM Publisher server keeps crashing randomly. The deployment included a new static FAQ
component that was used in the websites Contact Us page. An Architect investigates to find the root cause for the
random failures, and notices the following parameters: 

1. 

The server slows down when requests are sent to the Contact us page 

2. 

The number of requests to the page were very few 

3. 

Heap dump shows a large number of instances of the FAQ component 

What is likely causing this issue? 

A. The page was not cached in the Dispatcher. 

B. The component triggers a traversal query. 

C. The JVM garbage collection is not running. 

D. The component has a cyclic dependency to itself 

Correct Answer: D 

 

 

QUESTION 2

A customer has a website with 10,000 pages and wants to improve performance. Which option should be used? 

A. Specify a wildcard allow rule in the invalidate section 

B. Advise to use URL parameters instead of sling selectors 

C. Decrease .stat file level from the default 

D. Increase .stat file level from the default 

Correct Answer: B 

 

QUESTION 3

A media company surveys the end users of their AEM Sites website. The survey identifies that it is difficult to locate
content on the site due to lack of relevancy and slow performance when navigating through the large volume of content. 
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To address both issues, the business team suggests integrating an innovative taxonomy product to the company s AEM
implementation. The product is new on the market and the development team has no experience with the technology. 

Which two steps should an Architect recommend to evaluate this new feature? (Choose two.) 

A. Develop the integration as proof of concept with sample content 

B. Test usability of the feature with selected business users 

C. Develop the integration and deploy it to 50% of the production AEM instances 

D. Develop the integration as proof of concept with full production content 

E. Test usability of the feature withselected end users 

Correct Answer: BD 

 

 

QUESTION 4

A company is implementing a new e-commerce site that is expected to get seasonal and flash-sale induced traffic peaks
from all over the world. It is projected that a minute of downtime could cause excessive lost revenue. The company 

management wants to keep resource utilization to optimal levels without experiencing degradation to avoid introducing
bugs in the system. 

The Architect needs to choose between AEM 6.5 and AEM as Cloud Service. 

What are the two most critical non-functional requirements the Architect must consider? (Choose two.) 

A. Scalability 

B. Availability 

C. Reliability 

D. Maintainability 

E. Usability 

Correct Answer: AE 

 

QUESTION 5

A website built on AEM Sites displays the company\\'s stock price in the footer of all pages. The stock data is retrieved
from a third party REST service using two-way SSL and rendered in an AEM component using HTL During performance
testing in the last development sprint it becomes apparent that the third party service sometimes takes up to 30 seconds
to respond, which degrades the overall site performance. 

How should an Architect address this issue? 

A. Call the REST service directly from the browser 
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B. Temporarily remove the component from all content 

C. Load the stock data component asynchronously 

D. Add a 5 second timeout to the REST call 

Correct Answer: C 
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